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AREA OF A TRAPEZIUM AND A
POLYGON

1. Find the area of triangle whose sides are 9

cm, 12cm and 15 cm. Also, find the length of
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altitude corresponding to the largest side of

the triangle.

° Watch Video Solution

2. Find the area of an equilateral triangle,

whose one side is a cm.

o Watch Video Solution

3. The base of an isosceles triangle is 12 cm

and its perimeter is 32 cm. Find the area of the


https://dl.doubtnut.com/l/_wmuZQGoDYnrg
https://dl.doubtnut.com/l/_bYV9UBHzqByV
https://dl.doubtnut.com/l/_I4tJquYymJd3

triangle.

o Watch Video Solution

4.The perimeter of a rectangle is 28 cm and its
length is 8cm. Find its:

(1) breadth (ii) area (iii) diagonal

o Watch Video Solution

5. The area of a rectangle is 5.4m?. If its

breadth is 1.5 m, find its :


https://dl.doubtnut.com/l/_I4tJquYymJd3
https://dl.doubtnut.com/l/_EZSlaKCMr0Qw
https://dl.doubtnut.com/l/_KhzxCmaKSqpm

(1) length (ii) Perimeter

o Watch Video Solution

6. The perimeter of a square is 28 cm. Find its:

(i) one side (ii) area (iii) diagonal

° Watch Video Solution

7.The diagonal of a square is 20m. Find its:

(1) area (ii) length of one side (iii) perimeter


https://dl.doubtnut.com/l/_KhzxCmaKSqpm
https://dl.doubtnut.com/l/_9sMMy5BXCGis
https://dl.doubtnut.com/l/_wZoTMgDBApC3

o Watch Video Solution

8. A path of uniform width 4 m runs around
the outside of a rectangular field 24 m by 18m.

Find the area of the path.


https://dl.doubtnut.com/l/_wZoTMgDBApC3
https://dl.doubtnut.com/l/_yaqTmXPwdMez

° Watch Video Solution

9. A path of uniform width 2m runs around the
inside of a square field of side 20m. Find the

area of the path.

° Watch Video Solution

10. A rectangular hall is 5.25 long and 3.78 m

wide. Its floor is to be covered with square


https://dl.doubtnut.com/l/_yaqTmXPwdMez
https://dl.doubtnut.com/l/_0ak5fxJDRW0W
https://dl.doubtnut.com/l/_TCfUC8H35YfV

tiles, each of side 21 cm. Find the cost of ties

required at the rate of Rs. 5 per tile.

o Watch Video Solution

11. The adjoining figure shows a rectangular
field 70m long and 45 m wide. The shaded
portion shows two mutually perpendicular
roads, one of width 5 m and the other with

width 8 m. Find the cost of levelling the roads


https://dl.doubtnut.com/l/_TCfUC8H35YfV
https://dl.doubtnut.com/l/_ozV5EwgIru7N

at the rate of Rs. 180 per sq. m.

o Watch Video Solution

12. The lengths of parallel sides of a trapezium
are in the ratio 3: 5 and the distance between
them is 10cm. If the area of the trapezium is

120cm?, find the lengths of its parallel sides.


https://dl.doubtnut.com/l/_ozV5EwgIru7N
https://dl.doubtnut.com/l/_fO5wVA977qtN

A.9¢cm and 17em

B. 8m and 15e¢m

C.9¢m and 15em

D. 5¢m and 17¢cm

Answer: C

o Watch Video Solution

13. The area of a trapezium is 880cm?®. The

lengths of the parallel sides are 60 cm and 28


https://dl.doubtnut.com/l/_fO5wVA977qtN
https://dl.doubtnut.com/l/_SO1SqewB8kCV

cm respectively. Find the distance between the

parallel sides.

° Watch Video Solution

14. The area of a trapezium shaped field is
1920m?, the height is 30 and one of the
parallel sides is 40 m. Find the other parallel

side.

o Watch Video Solution



https://dl.doubtnut.com/l/_SO1SqewB8kCV
https://dl.doubtnut.com/l/_fME1I410KsTs

2 and

15. The area of the trapezium is 210 cm
its height is 14 cm. If one of the parallel sides
is longer than the other by 6 cm, find the two

parallel sides.

o Watch Video Solution

16. The perimeter of a trapezium is 52 cm and
its non-parallel sides are 9 cm and 11 cm
respectively. If its height is 8 cm. find the area

of traplezium.

| & I
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| ¥ Watch Video Solution |

17. A parallelogram has sides of 12 cm and 8
cm. If the distance between the 12 cm sides is

5 cm, find the distance between 8 cm sides.

o Watch Video Solution

18. In parallelogram ABCD, AB = 16 cm, BC = 12

cm and diagonal AC = 20 cm. Find the area of


https://dl.doubtnut.com/l/_ntotEJlQGRhg
https://dl.doubtnut.com/l/_ZySCi93bGtsy
https://dl.doubtnut.com/l/_adqdvvYvHLcK

the parallelogram.

° Watch Video Solution

19. The diagonals of a rhombus are 16 cm and
12 cm, find:
(i) its area (ii) length of its side (iii) its

perimeter.


https://dl.doubtnut.com/l/_adqdvvYvHLcK
https://dl.doubtnut.com/l/_4m6znkbTtDYA

° Watch Video Solution

20. Find radius and area of a circle whose

circumference is 132 cm.

o Watch Video Solution

21. Find circumference of the circle, whose area

is 24.64 m>.

° Watch Video Solution



https://dl.doubtnut.com/l/_4m6znkbTtDYA
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22.The perimeter of a square, whose each side
is 22 cm, is the same as circumference of a

circle. Find the area of the circle.

o Watch Video Solution

23. The shaded portion in the adjoining figure
shows a circular path enclosed by two
concentric circles. If the inner circumference of

the path is 176 m and the uniform width of the


https://dl.doubtnut.com/l/_6OF9lxg1WwfY
https://dl.doubtnut.com/l/_hmYuljvzmuF0

circular path is 3.5 m, find the area of the path.

o Watch Video Solution

Exercise 20 A


https://dl.doubtnut.com/l/_hmYuljvzmuF0

1. Find the area of of a triangle, whose sides
are:

10 cm, 24 cm and 26 cm

o Watch Video Solution

2.Find the area of a triangle, whose sides are :

18 mm, 24 mm and 30 mm

o Watch Video Solution



https://dl.doubtnut.com/l/_eDUrvnftC5he
https://dl.doubtnut.com/l/_f6ujeR9qy9JW

3. Find the area of of a triangle, whose sides
are:

21m,28 mand 35 m

o Watch Video Solution

4. Two sides of a triangle are 6 cm and 8 cm. If
height of the triangle corresponding to 6 cm
side is 4 cm, find :

(i) area of the triangle


https://dl.doubtnut.com/l/_25mVOgDwOcep
https://dl.doubtnut.com/l/_oJRbG5LnNru8

(i) height of the triangle corresponding to 8

cm side.

° Watch Video Solution

5. The sides of a triangle are 16 cm, 12 cm and
20 cm. Find :

(i) area of the triangle

(i) height of the triangle, corresponding to
the largest side

(i) height of the triangle, corresponding to

the smallest side.

| e |


https://dl.doubtnut.com/l/_oJRbG5LnNru8
https://dl.doubtnut.com/l/_qCrYjq3fWyK0

& Wwatch Video Solution I

6. Two sides of a triangle are 6.4 m and 4.8 m.
If height of the triangle corresponding to 4.8
m side is 6 m, find :

() area of the triangle,

(i) height of the triangle corresponding to 6.4

m side

o Watch Video Solution



https://dl.doubtnut.com/l/_qCrYjq3fWyK0
https://dl.doubtnut.com/l/_3Q5AKRArzhZa

7. The base and the height of a triangle are in
the ratio 4: 5. If the area of the triangle is 40

m? , find its base and height.

o Watch Video Solution

8. The base and the height of a triangle are in
the ratio 5:3. If the area of the triangle is 67.5

m?, find its base and height.

o Watch Video Solution



https://dl.doubtnut.com/l/_eDYJdRANIsOD
https://dl.doubtnut.com/l/_f0JdjEffthBX
https://dl.doubtnut.com/l/_h6FGDGaVlOBC

9. The area of an equilateral triangle is

144,/3cm?, find its perimeter.

° Watch Video Solution

10. The area of an equilateral triangle is
numerically equal to its perimeter. Find its

perimeter correct to 2 decimal places.

° Watch Video Solution



https://dl.doubtnut.com/l/_h6FGDGaVlOBC
https://dl.doubtnut.com/l/_GlTmnbLvSU1f

1. A field is in the shape of a quadrilateral
ABCD in which side AB = 18 m, side AD = 24 m,
side BC =40 m,DC =50 m and angle A = 90°.

Find the area of the field.

° Watch Video Solution

12. The lengths of the sides of a triangle are in
the ratio 4:5:3 and its perimeter is 96 cm. Find

its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_2aXao93XKEM2
https://dl.doubtnut.com/l/_Hkd3d5XUB1nh

13. One of the equal sides of an isosceles
triangle is 13 cm and its perimeter is 50 cm.

Find the area of the triangle.

o Watch Video Solution

14. The altitude and the base of a triangular
fileld are in the ratio 6:5. If its cost is Rs.
49,57,200 at the rate of Rs. 36,720 per hectare
and 1 hectare = 10,000 sqg. m, find (in metre)

dimensions of the field.


https://dl.doubtnut.com/l/_Hkd3d5XUB1nh
https://dl.doubtnut.com/l/_31gPhRYN8F4v
https://dl.doubtnut.com/l/_ZoisZLSflpwV

° Watch Video Solution

15. Find the area of the right-angled triangle
with hypotenuse 40 cm and one of the other

two sides 24 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZoisZLSflpwV
https://dl.doubtnut.com/l/_lLWbJl1HP5lg

A 24 om B

16.

Use the information given in the adjoining
figure to find :

(i) the length of AC.

(ii) the are a of AABC.


https://dl.doubtnut.com/l/_UHG9renX7MtX

(i) the length of BD, correct to one decimal

place.

° Watch Video Solution

Exercise 20 B

1. Find the length and perimeter of a

rectangle, whose area = 120 em? and breadth =

8 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_UHG9renX7MtX
https://dl.doubtnut.com/l/_EjXkpZIZAjIs
https://dl.doubtnut.com/l/_VpbAPa3S3Rc4

2. The perimeter of a rectangle is 46 m and its
length is 15 m. Find its :

(i) breadth

(ii) area

(iii) diagonal

o Watch Video Solution

3. The diagonal of a rectangle is 34 cm. If its
breadth is 16 cm, find its :

(i) length (ii) area

| 8 l


https://dl.doubtnut.com/l/_VpbAPa3S3Rc4
https://dl.doubtnut.com/l/_gLnSRMmm2jyb

L ' Watch Video Solution J

4. The area of a small rectangular plot is 84
m? If the difference between its length and

the breadth is 5 m, find its perimeter.

° Watch Video Solution

5. The perimeter of a square is 36 cm, find its

area.

o Watch Video Solution



https://dl.doubtnut.com/l/_gLnSRMmm2jyb
https://dl.doubtnut.com/l/_cIqpiY8s061X
https://dl.doubtnut.com/l/_5sOtyPilKRrc

6. Find the perimeter of a square whose area is

1.69 m?2 .

o Watch Video Solution

7. The diagonal of a square is 12 cm long, find

its area and length of one side.

o Watch Video Solution



https://dl.doubtnut.com/l/_iswN2BT2mHMD
https://dl.doubtnut.com/l/_1R290NgFGRco

8. The diagonal of a square is 15 m, find the

length of its one side and perimeter.

o Watch Video Solution

9. The area of a square is 169 cm?. Find its :

(i) one side (ii) perimeter

o Watch Video Solution



https://dl.doubtnut.com/l/_liG6QWiYSo33
https://dl.doubtnut.com/l/_BK3preQ6mKjB

10. The length of a rectangle is 16 cm and its
perimeter is equal to the perimeter of a
square with side 12.5 cm. Find the area of the

rectangle.

° Watch Video Solution

11. The perimeter of a square is numerically

equal to its area. Find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_N9sO4QsAkSim
https://dl.doubtnut.com/l/_2W8Kyi3Dp2d1
https://dl.doubtnut.com/l/_9Ex1Cv2ENXsL

12. Each side of a rectangle is doubled. Find
the ratio between :
(i) perimeters of the original rectangle and the
resulting rectangle
(i) areas of the original rectangle and the

resulting rectangle

o Watch Video Solution

13. In each of the following cases ABCD is a
square and PQRS is a rectangle. Find, in each

case, the area of the shaded portion. (All


https://dl.doubtnut.com/l/_9Ex1Cv2ENXsL
https://dl.doubtnut.com/l/_F76MDqDORmQx

measurements are in metre).

o Watch Video Solution

14. A path of uniform width, 3 m, runs around
the outside of a square field of side 21 m. Find

the area of the path.

o Watch Video Solution



https://dl.doubtnut.com/l/_F76MDqDORmQx
https://dl.doubtnut.com/l/_2sYrTdccsqwr
https://dl.doubtnut.com/l/_YNzockB59lRL

15. A path of uniform width, 2.5 m, runs around
the inside of a rectangular field 30 m by 27 m.

Find the area of the path.

o Watch Video Solution

16. The length of a hall is 18 m and its width is
13.5 m. Find the least number of square tiles,
each of side 25 cm, required to cover the floor
of the hall,

(1) without leaving any margin.

(ii) leaving a margin of width 1.5 m all around.


https://dl.doubtnut.com/l/_YNzockB59lRL
https://dl.doubtnut.com/l/_LezKZt0eTp2U

In each case, find the cost of the tiles required

at the rate of Rs. 6 per tile.

° Watch Video Solution

17. A rectangular field is 30 m in length and 22
m in width. Two mutually perpendicular roads,
each 2.5 m wide, are drawn inside the field so
that one road is parallel to the length of the
field and the other road is parallel to its width.

Calculate the area of the crossroads.

° Watch Video Solution



https://dl.doubtnut.com/l/_LezKZt0eTp2U
https://dl.doubtnut.com/l/_isBiPawU60Qw

18. The length and the breadth of a
rectangular field are in the ratio 5:4 and its
area is 3380 m?. Find the cost of fencing it at

the rate of Rs. 75 per m.

° Watch Video Solution

19. The length and the breadth of a conference
hall are in the ratio 7:4 and its perimeter is
110m. Find:

(i) are of the floor of the hall.


https://dl.doubtnut.com/l/_isBiPawU60Qw
https://dl.doubtnut.com/l/_QgWBFao4QKeT
https://dl.doubtnut.com/l/_XhQnbGYnazAw

(i) number of tiles, each of rectangle of size
25cm < 20cm, required for flooring of the
hall.

(iii) the cost of the tiles at the rate of Rs. 1,400

per hundred tiles.

o Watch Video Solution

Exercise 20 C

1. The following figure shows the cross-section

ABCD of a swimming pool which is a trapezium


https://dl.doubtnut.com/l/_XhQnbGYnazAw
https://dl.doubtnut.com/l/_TUtmhEWYLcVd

in shape.

D ¢

If the width DC, of the swimming pool is 6.4 m,
depth (AD) at the shallow end is 80 cm and
depth (BC) at the deepest end is 2.4 m, find its

area of cross-section.

o Watch Video Solution



https://dl.doubtnut.com/l/_TUtmhEWYLcVd

2. The parallel sides of a trapezium are in the
ratio 3:4. If the distance between the parallel
sides is 9 dm and its area is 126 dm?, find the

lengths of its parallel sides.

o Watch Video Solution

3. The two parallel sides and the distance
between them are in the ratio 3:4:2. If the
area of the trapezium is 175 em?, find its

height.

| & I


https://dl.doubtnut.com/l/_1vRi4czT7Vsg
https://dl.doubtnut.com/l/_PvdDR0ZLzsSQ

| ¥ Watch Video Solution |

4. A parallelogram has sides of 15 cm and 12
cm. If the distance between the 15 cm sides is

6 cm, find the distance between 12 cm sides.

o Watch Video Solution

5. A parallelogram has sides of 20 cm and 30
cm. If the distance between its shorter sides is
15 cm, find the distance between the longer

sides.


https://dl.doubtnut.com/l/_PvdDR0ZLzsSQ
https://dl.doubtnut.com/l/_9kGVHrf2l6NL
https://dl.doubtnut.com/l/_B741KvVGRO8p

° Watch Video Solution

6. The adjacent sides of a parallelogram are 21
cm and 28 cm. If its one diagonal is 35 cm, find

the area of the parallelogram.

° Watch Video Solution

7. The diagonals of a rhombus are 18 cm and

24 cm. Find ,


https://dl.doubtnut.com/l/_B741KvVGRO8p
https://dl.doubtnut.com/l/_NFMd5uzNnDWF
https://dl.doubtnut.com/l/_tdjxJ6ehp8I6

(i) its area (ii) length of its sides (iii) its

perimeter

° Watch Video Solution

8. The perimeter of a rhombus is 40 cm. If one
diagnonal is 16 cm, find :

(i) its other diagonal (ii) area

° Watch Video Solution



https://dl.doubtnut.com/l/_tdjxJ6ehp8I6
https://dl.doubtnut.com/l/_5rbiDuLcvve8

9. Each side of a rhombus is 18 cm. If the
distance between two parallel sides is 12 cm,

find its area.

o Watch Video Solution

10. The length of the diagonals of a rhombus
is in the ratio 4:3. If its area is 384 cm?, find its

side.

o Watch Video Solution



https://dl.doubtnut.com/l/_aT0RlXCBuEb8
https://dl.doubtnut.com/l/_majhH5fJqAwe
https://dl.doubtnut.com/l/_3sEARIB1KB3a

11. A thin metal iron-sheet is a rhombus in
shape, with each side 10 m. If one of its
diaginals is 16 m, find the cost of painting its
both sides at the rate of Rs. 6 per m?.

Also, find the distance between the opposite

sides of this rhombus.

o Watch Video Solution

12. The area of a trapezium is 279 sq. cm and
the distance between its two parallel sides is

18 cm. If one of its parallel sides is longer than


https://dl.doubtnut.com/l/_3sEARIB1KB3a
https://dl.doubtnut.com/l/_NVQ3quPBepVb

the other side by 5 cm, find the lengths of its

parallel sides.

° Watch Video Solution

13. The area of a rhombus is equal to the area
of a triangle. If base of triangle is 24 cm, its
corresponding altitude is 16 cm and one of the
diagonals of the rhombus is 19.2 cm, find its

other diagonal.

° Watch Video Solution



https://dl.doubtnut.com/l/_NVQ3quPBepVb
https://dl.doubtnut.com/l/_OsZYUILCZmCE
https://dl.doubtnut.com/l/_1A8hzmoKnhEU

14. Find the area of the trapezium ABCD in
which AB//DC, AB =18 cm, /B = ZC = 90°,

CD =12 cm and AD =10 cm.

° Watch Video Solution

Exercise 20 D

1. Find the radius and area of a circle, whose

circumference is : 132 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_1A8hzmoKnhEU
https://dl.doubtnut.com/l/_K5UzBHCUqtBw

2. Find the radius and area of a circle, whose

circumferenceis: 22 m

° Watch Video Solution

3. Find the radius and circumference of a

circle, whose area is : 154 em?

o Watch Video Solution



https://dl.doubtnut.com/l/_K5UzBHCUqtBw
https://dl.doubtnut.com/l/_RkjakANiKPXy
https://dl.doubtnut.com/l/_H9tPFf0E6jYQ

4. Find the radius and area of a circle, whose

circumference is : 6.16 m?

o Watch Video Solution

5. The circumference of a circular table is 88 m.

Find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_0Br3t76nP1Qd
https://dl.doubtnut.com/l/_28hDJxxUAgfo

6. The area of a circle is 1386 sq. cm, find its

circumference.

° Watch Video Solution

7.Find the area of a flat circular ring formed by
two concentric circles (circles with same

centre) whose radii are 9 cm and 5 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_hnKoXvxZvTRx
https://dl.doubtnut.com/l/_XptFGmGtD5Zo

8. Find the area of the shaded portion in each

of the following diagrams :

° Watch Video Solution



https://dl.doubtnut.com/l/_Pfh6sdCJmyNf

9.Find the area of the shaded portion in each

of the following diagrams :

° Watch Video Solution



https://dl.doubtnut.com/l/_T7fKMWRkAbAT

10. The radii of the inner and outer
circumferences of a circular-running-track are
63 m and 70 m respectively. Find :

(i) the area of the track

(i) the difference between the lengths of the

two circumferences of the track

o Watch Video Solution

11. A circular field of radius 105 m has a circular

path of uniform width of 5 m along and inside


https://dl.doubtnut.com/l/_vJo1tIzv2vpl
https://dl.doubtnut.com/l/_2xcUdaJK7DPB

its boundary. Find the area of the path.

o Watch Video Solution

12. There is a path of uniform width 7 m round
and outside a circular garden of diameter 210

m. Find the area of the path.

o Watch Video Solution

13. A wire, when bent in the form of a square,

encloses an area of 484 e¢m?. Find :


https://dl.doubtnut.com/l/_2xcUdaJK7DPB
https://dl.doubtnut.com/l/_X1oPsDt92uIZ
https://dl.doubtnut.com/l/_gHmGSRMnLFS6

(i) one side of the square
(i) length of the wire
(iii) the largest area enclosed, if the same wire

is bent to form a circle.

o Watch Video Solution

14. A wire, when bent in the form of a square,
encloses an area of 196 cm?. If the same wire is

bent to form a circle, find the area of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_gHmGSRMnLFS6
https://dl.doubtnut.com/l/_vNaRdAxTOQTo
https://dl.doubtnut.com/l/_JZq1KGt2zf7h

15. The radius of a circular wheel is 42 cm. Find
the distance travelled by it in:

(i) 1 revolution

(ii) 50 revolutions

(iii) 200 revolutions

o Watch Video Solution

16. The diameter of the wheel of a car is 0.70
m. Find the distance covered by it in 500
revolutions.

If the wheel takes 5 minutes to make 500


https://dl.doubtnut.com/l/_JZq1KGt2zf7h
https://dl.doubtnut.com/l/_hntoBCUi5qTX

revolutions, find its speed in :

(i) m/s (ii) km/hr

° Watch Video Solution

17. A bicycle wheel, diameter 56 cm, is making
45 revolutions in every 10 seconds. Calculate

the speed, in kilometre per hour, of the bicycle.

° Watch Video Solution



https://dl.doubtnut.com/l/_hntoBCUi5qTX
https://dl.doubtnut.com/l/_HpzDLsPR9ope

18. A roller has a diameter of 1.4 m. Find :
(i) its circumference
(ii) the number of revolutions it makes while

travelling 61.6 m.

o Watch Video Solution

19. Find the area of the circle, length of whose
circumference is equal to the sum of the
lengths of the circumferences of circles with

radii 15 cm and 13 cm.

| & I


https://dl.doubtnut.com/l/_KIuutAGxBzcc
https://dl.doubtnut.com/l/_T1h3NVigvfoY

| ¥ Watch Video Solution |

20. A piece of wire of length 108 cm is bent to
form a semicircular arc bounded by its

diameter. Find its radius and enclosed area.

o Watch Video Solution

21. In the following figure, a rectangle ABCD

encloses three circles. If BC = 14 cm, find the


https://dl.doubtnut.com/l/_T1h3NVigvfoY
https://dl.doubtnut.com/l/_GfcdusnU0CZ2
https://dl.doubtnut.com/l/_ZYFmH6Inhw8C

area of the shaded portion. (Takea 7 = 3—)

7

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYFmH6Inhw8C

